Addition Word Problems

Thomas has 12 football cards and is given another 5 by his friend.
How many cards does he have now?

There are 14 sheep in the barn. The farmer moves another 12 sheep
into the barn. How many sheep are there in the barn?

Annabel eats 21 sweets on Saturday and 7 on Sunday. How many
does she eat altogether?

Ben has 31 yellow Lego bricks and 14 red Lego bricks. What is his
combined total of bricks?

Mr Spencer marks Amy’s test and gives her 23. He then increases
her score by 14. What is Amy’s score?

Ahmed has a tray of 13 carrots to give out in first break and a tray

of 16 carrots for second break. What is the total number of carrots
Ahmed has?

In Class 2 there are 4 children who are having a packed lunch and
in Class 1 there are 23 children. What is the sum of children having
a packed lunch?

Tina has a collection of 34 comics. She adds 15 more. How many
comics does she have now?

Billg scores 21 on a computer game and Catherine scores 15 more
than him. How much does Catherine score?

One penguin at the zoo was fed 6 fish and another 11 fish. How
many fish were fed to the penquins altogether?
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Addition Word Problems

Thomas has 12 football cards and is given another 5 by his friend.
How many cards does he have now? 17

There are 14 sheep in the barn. The farmer moves another 12 sheep
into the barn. How many sheep are there in the barn? 26

Annabel eats 21 sweets on Saturday and 7 on Sunday. How many
does she eat altogether? 28

Ben has 31 yellow Lego bricks and 14 red Lego bricks. What is his
combined total of bricks? 45

Mr Spencer marks Amy’s test and gives her 23. He then increases
her score by 14. What is Amy’s score? 37

Ahmed has a tray of 13 carrots to give out in first break and a tray

of 16 carrots for second break. What is the total number of carrots
Ahmed has? 29

In Class 2 there are 4 children who are having a packed lunch and
in Class 1 there are 23 children. What is the sum of children having
a packed lunch? 27

Tina has a collection of 34 comics. She adds 15 more. How many
comics does she have now? 49

Billy scores 21 on a computer game and Catherine scores 15 more
than him. How much does Catherine score? 36

One penguin at the zoo was fed 6 fish and another 11 fish. How
many fish were fed to the penquins altogether? 17
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